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Closest Possible Fits

K=const(Tset), +correction factor a

Tset=1100, P=4.9 atm, k= f{T=et), a=1.75
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Tset=1100, P=8 atm, k= f(Tset), a=1.75




Closest Possible Fits

K=const(Tset), +correction factor a

Tzet=500, P=4 atm, K = f(Tset), a=1.2 Tset=500, P=8 atm, k= f(Tset), a=1.2
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Variable Thermal Conductivity

K=f(TFluid), +correction factor a

T=1100, P =8 atm, K = f(Tfluid), a=1.75 T=1100, P=38 atm, k= f(Tfluid), a=3
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Variable Thermal Conductivity

K=f(TFluid), +correction factor a

T=800, P=4 atm, K = fiTfluid), a=1.2 T=500, P =4 atm, K= f{Tfluid), =1k
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Best Universal Fit

K=f(TWall), +correction factor a

T=1100, P= 4.9 atm, K = fTWall), a=15
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T=1100, P=g atm, k= fiTwall), a=1.b




Best Universal Fit

K=f(TWall), +correction factor a

T=800, P= 4 atm, K= fiTWall), a=1.6 T=900, P =8 atm, K= fiTWWall), a=1.6
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